Liebniz Chain Rule Handout

Instructions.

In all exercises, use the liebniz form of the chain rule to compute the derivative.
— A2 o — . d
1. y =42® 452 + 1; v = sin (t) ; compute %

o Ch 2 . d
2. y =sin(t); t = 2° + r + 2; compute ¢

— A2 9 o — 3t dy
3.y =4a® — 2z; x = {7; compute

4. x = 4t? — 2t + 2; t = Ty + 4; compute fl—z
5.y =sin(t); t = sin (z) ; compute %

Answers

1. % = (8sin (t) + 5) cos (¢)

2. & =cos (22 +2+2) (22 +1)

3 du (24152727572) (3t2+6t)
Cdt t+1 (t+1)2

4. g—; =392y + 210 =

5. % = cos (sin (z)) cos ()

26



